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Step 1. Ǜ ̙ 

Step 2. Ǜ ǉinput ǊǍ
Ǎ ǉoutput Ǌ̙ 

Step 3. Ǜ ̙ 

Step 4. Ǜ ̙ 
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· ǉpseudo code ǊǛ Ǎ
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1. LED i=0( ) 

2.LED x=5  

3. i=255  

 3-1. ǍLED PWM  

  3-1-1. i= i+x ( ) 

  3-1-2. 30 Ǎ 3 

 3-2. ǍLED Ǎ 4 

/* 1 10 */  

Let counter = 1  

Let sum = 0  

while counter <= 10  

    sum = sum + counter  

    Add 1 to counter  

Output the sum       /*  */  
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 (Start) 
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(Path)  
  

(Input)  
(Output)   

(Process)  
   

start 

 

s=s+1 

Ch.3.1 



(2) 

            

(Decision)   
 

 (Loop)   
 

(Subroutine)  
 

(Document)   
  

A>B 

Forʦi  To 10 
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ᶧ1 

ᶧ2 

Do   1; 
Then Do 2 
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 SEQUENCE 
RGB LED    

º : RGB LED  

º : RGB LED 1 Ǎ 1 Ǎ ̙ 

º  

º  

º  

º  

º 4060  
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1.LED ( ) 

 

2. 1  

 

3.LED ( ) 

 

4. 1  

 

5. 1 
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º    1.LED ( ) 

 

º    2. 1  

 

º    3.LED ( ) 

 

º    4. 1  

 

º    5. 1 
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DO WHILEşLOOP ( ) 
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Do While ( )  
{  
   ; 
} Loop 
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DOş  LOOP WHILE ( ) 
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do  
{  
   ; 
}  
Loop  While ( );  
 

Ch.4.2.2 



 INTERATION  
 

(1) Ǜ  

(2) Ǜ LED Ǎ
Ǎ Ǎ

̙ 

(3) Ǜ 

1.LED ĄLED ( ) 

2.LED ĄLED ( ) 

3. Ǎ PWM ( ) 

4.PWM 0( )ȟ255( ) 
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LED  

LED  

LED  
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 VS   

1. LED i=0( ) 

2.LED x=5  

 

3.  i=255 ( ) 

   3-1. ǍLED PWM  

        3-1-1. i= i+x ( ) 

        3-1-2. 30 Ǎ 3 

   3-2. ǍLED Ǎ 4 

 

4.  i=0 ( ) 

    4-1. ǍLED PWM  

         4-1-1. i= i-x( ) 

         4-1-2. 30 Ǎ 4 

   4-2. ǍLED Ǎ 3 
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1. LED i=0( ) 

2.LED x=5  

3. i=255  

   3-1. ǍLED PWM  

        3-1-1. i= i+x ( ) 

        3-1-2. 0.03 Ǎ 3 

   3-2. ǍLED Ǎ 4 

4. i=0  

   4-1. ǍLED PWM  

        4-1-1. i= i-x( ) 

        4-1-2. 0.03 Ǎ 4 

   4-2. ǍLED Ǎ 3 
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3-1-1 

3-1 

3-1-2 
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 1+2+3  
 

  



 
SELECTION  

 

 
 

º ǉ Ǌ 

If ( ) { 
      1; 
} 
else {  
        2; 
} 
If ( ) { 
        3; 
} 

 

ᶧ3 
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ᶧ2 

Ԉ 
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¸ ǉ Ǌ 

SELECT ( p) { 
case =1: 
    1; 
case p=2: 
    2; 
ʐ 
case p=n: 
    n; 
} 

ᶧ2 ᶧ1 ᶧn 

ԈP 

ʐʐ 
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º Ǜ  
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                         ̙ 

º Ǜ 

                         1. HǍ 

                         2. 30 Ǎ Ǎ ( ) 

                         3. 10~30  Ǎ Ǎ   

                              ( ) 

                         4. 10 Ǎ Ǎ    

                              ( )̙ 
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1. H 

2.  H > 30  

2-1. Ǜ Ǎ Ǎ 1  

3. Ǜ 

    3-1. Ǜ  10 < H < 30  

3-1-1. Ǜ Ǎ Ǎ Ǎ
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  1. Ǎ 

  2. (X )Ǎ X <50Ǎ ( )Ǎ ǜ 

  3. (X ) Ǎ X >800Ǎ ( )Ǎ ǜ   

  4. Ǎ ǍLED ̙ 
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1. X̘Y̘Button  

2.    

    2-1. Ǜ 

3. Ǜ 

    3-1. Ǜ 

        3-1-1. Ǜ 

    3-2. Ǜ 

        3-2-1. Ǜ 

            3-2-1-1. Ǜ 
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1. X̘Y̘Button  

2.  X < 50  

    2-1. Ǜ ( )Ǎ  

3. Ǜ 

    3-1. Ǜ  X > 800 

        3-1-1. Ǜ ( )Ǎ  

    3-2. Ǜ 

        3-2-1. Ǜ  Button = 1 

            3-2-1-1. Ǜ ǍLED  

        3-2-2. Ǜ  

            3-2-2-1. Ǎ 1 
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1. X̘Y̘Button  

2.  X < 50  

    2-1. Ǜ ( )Ǎ  

3. Ǜ 

    3-1. Ǜ  X > 800  

        3-1-1. Ǜ ( )Ǎ  

    3-2. Ǜ 

        3-2-1. Ǜ  Button = 1  

            3-2-1-1. Ǜ ǍLED
 

        3-2-2. Ǜ  
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